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Section A: Multiple Choice Questions {20 x 2 marks)

For each question, feur opticns are given. One of them is the correct
arswer. Cheose the correct answer and write its number (1, 2, 3 or 4) in the
brackeis provided. Shade the coirect oval on the Optical Answer Sheet

{DAS).
1. In the number 4 968, the value of ‘6’ is

(1y 6

(2) 60

(3) 600

(4) 6000 : ¢ )
2. How many tens are there in 470 7 -

(1 7

2y 47

{3 TG

(4) 400 ' ( )

3. In which of the following does the digit ‘8" have the greafest value ?

(1) 9873
2 8124
(3 5087

4 3978 )

4, What would you get if you add_ali the odd numbers between 15 and 25 ?

(1 40
2 8o
3) 100

@) 120 « ),
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Which of the following is NOT correct ?

th

(1} 8+ 1=28

{2} 7x 0=40

3y 8x 7=7Tx8

{4) 6 x a=6+6+H6+6+86 +8& {
- 6. There were 6 red balls in the basket There were 4 times as many biue

balls as red balls. What is the total number of bails in the baskelt?

(1) 10
(2) 2
@) 24
4y 30 (

7. Mrs Lee packed 57 pieces of doughnuts in each tray.
How many pieces of doughnuts are there in 3 such frays?

1)y 19
(2) 60
@ 7m. - .
(4 228 (
8. I am a number. When I am divided by 5, you will geta quotient of 4 and @

remainder of 3. What number am I ?

1 12
2y 17
3) 19
“w 23 - (
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9. 3 x 5 isthe same as

(1) 3 +3+ 3+3 13

(2) 3 x3x3x3x3

(3) S5§+5+5+5a415

4 5x5x5 ( )

0. 6x9 =162 |3

1+

2y -

3) x

4 = ( )

11.

Gopal added 2 numbers and got the answer 106. Which 2 numbers did he add 7
(1) AandB
(2 A and C

(3) Cand D .
{4) B and C ‘ . A )

12. Which of the following can be divided by 8 wittiout léaving a remainder?

(1) 269
(2) 296
(3) 629

4) 692 R GRS
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13. Which of the following amouni of money is the largast ?

(1) 5 fifty-cent coins

(23 27 ten—ceni coins

(3) 2 one-doliar coins

{4 | 14 tweniv-ceni coing {

14. 11 x9 is1less than .
—

(1) 98

(2) 99

(3) 100

(4) 109 (

15. Seventy dollars ‘and eighty cents is the Same as
L ._‘._-—_‘*"_‘.nﬁ -

(1)  $70.08

(2)  $70.18

(3) $70.80

(4)  $78.00 - (

16.  Mother divided $12 equali ibli
dally among Sally and her th
- How much did each chilg get?~ = F e sbiings.

(1) 38 -
(2) 3o , : .

(3) 33 _
4 $4 (

7. $1030 =

(1) 103¢

2 130¢

(3) 1003¢

4  1030¢ (
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18. There are 180 boys in a school hail. There are 10 more girs than boys,
How many pupils are there in the school hall ?

(1) 170
(Z) 150

(3) 350

(4) 370 { }

19.  Aaron bought 6 packets of satay. Each packet contained 6 sticks of satay. "
How many sticks of satay did he buy ?

(1) 1

(2 6 i -

3) 12

(4) 36 ( )

20.  Cindy and Dick share $20 such that Cindy has $4 more than Dick.
What is Cindy's share ?

(1) $14
2y %12

(3) %8 :
(4) %5 ( )

(=4
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Secticn B: Open-Ended Questions (20 x 2 marks)

Write the correct answers for the following ouestions in the blanks provided.

Show vour workings in the space provided and give your answers in the uniis stated.

N
s

22. What is the whole number between 2389 and 2393172

23. Find the sum of 6 thousands, 13 tens and 42 ones.

24.  Josephine plucked 60 lemaons. She plucked three fimes as many lemons

as Tim. How many lemons did Tim pluck?

Ans:
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Ans:

Ans:
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25, Katie has 640 cards. She has 12 cards more than Peter.
How many cards does Peter have ?

Ans: 7 cards

26.  What number must be added to 5 678 to oet 9077 ?

Ans:

27. In 6 788, the digit 1s in the hundreds place.

Ans:- ~
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28. How many ten-cent coins and 6 twenly-cent coins make $2.40 7

Ans: ten-cent coins

29. Find the difference between 1 885 and 517 .

Ans:

30.

N

1 book - $3.40 |  Afile- $2

At a sale, James bought 3 books and 2 fites. How much did he spend in
total ? '

Ans: $
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31.

32.

33,

The vice-principatl distributed gifis to a row of pupils. He gave one gift to
every 3™ pupil. if there were 68 pupils in the row, how many gifts will be
given away ? '

Ans: _____  gifts

P2 D DO o . b

If @ = 6 ,whatis the value of D ?

it

42

Ans:

A pen and a pencil cost $18. The pen costs five times as much as the pencil.
Find the cost of the pen.

Ans: $

There were 13 oranges, 14 apples and 12 pears in a basket.
How many fruits were there in 5 such baskeéets ?

Ans: fruits

10
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35. What is the value of 143 x § 7

I
=
n

36. Study the diagram below,

1 for $2.80

How much did Amy have to pay if she pought 9 camots and 2 turnips ?

Ans: $

37. Tim has $3.50 in his pocket. '
He has the same number of fifty-cent-coins and twehty-cent coins.
How many fifty-cent coins does he have?

Ans: fifty-cent coins
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Ans:
— ____ SWeelts

40.

Ans:
s —— ______trasers

[z
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Section C: Problem Sums {5 x 4marks)

Answer alf the questions. All number sentences, statements g
be clearly shown.

nd workings must

41.  Zhiwei had $1 500. He bought a table for $640 and 4 chairs for $120.
How much had Zhiwei left?

42. 5 classes of phpils went to the zoo. There were 30 pupils in eachiclass.
Each pupii paid $4 for the entrance fee.

a. How many pupils went to the zoo 7
b. How much did they pay for the entrance fee attogether?

13
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43.  Miss Lin bought 6 boxes of pencils. There were 22 pencils in each box.
She gave each pupil 4 pencils.

(a) How many pencils were there ailogether 7
{b) Ii-she gave away all the penciis, how many pupils were there ?

44.  There were 3 200 animals. 1 200 of them were cats, 780 of them were
dogs and the rest were ducks.

(a) Find the number of ducks.
(b) How many more ducks than cats were there?

14
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o

p1

Raymond went shopping with 2 one-hundred doilar notes. He bought a
radio at $87. Then he wanted to buy a rice cooker but found that he was

short of $38.

(a) How much money did he have left after buying the radio?
(b) What was the cost of the rice cooker?

15
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EXAM PAPER 2008

SCHOOL : NAN HUA PRIMARY SCHOOL
SUBJECT : PRIMARY 3 MATHEMATICS

TERM

Gl14 ] Qi5 1 Q16 [ Q17
3

22)2390 _ 23)6172

156 pu R
b)150x$4=%600" : T -
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